
05.24 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI) 
 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 3119013240 Кольцо уплотнительное 22 x 27 CSN 02 9310.2 
002 4436111140 Штуцер двойной 03-4026.06 
003 2052520124 Гайка  
004 3119080520 Гайка запорная M22 x 1,5 T 815 CSN 13 7968.2 
005 4436111500 Прокладка 12 x 20 x 1,5 4200.04 
006 3111102110 Гайка M14 x 1,5 ISO 8675 - 04 MKS 720 
007 2053650644 Муфта трубчатая  
008 3111102090 Гайка M12 x 1,5 ISO 8675 - 04 MKS 720 
009 2053650654 Муфта трубчатая  
010 3194110390 Горловина Js 5 
011 3194110400 Горловина Js 6 
013 2053740984 Штуцер  
015 3194110470 Штуцер Js 8 
016 2053740734 Штуцер  
017 2053740724 Штуцер  
019 3119013060 Кольцо уплотнительное 12 x 16 CSN 02 9310.2 
020 3119080620 Зажим 6 CSN 13 7993.22 T 815 
021 3191102210 Зажим M10 
022 3119080640 Зажим 8 CSN 13 7993.2 T 815 
023 3119013120 Кольцо уплотнительное 16 x 20 CSN 02 9310.2 
024 3119013080 Кольцо уплотнительное 14 x 18 CSN 02 9310.2 
025 3119013170 Кольцо уплотнительное 18 x 22 CSN 02 9310.2 
026 3191103880 Пробка M18 x 1,5 
027 3194110380 Штуцер Js 8 CSN 13 7850 
028 3194110340 Горловина Js 5 CSN 13 7850 
029 3111131880 Пробка M12 x 1,5 x 10 CSN 02 1915.1 
030 2053760134 Колено  
031 3111102140 Гайка M16 x 1,5 ISO 8675 - 04 MKS 720 
032 4436111200 Колено Z 691 16 831 
033 3119080220 Горловина 8 T815 CSN 13 7854.22 
034 3119013300 Кольцо уплотнительное 27 x 32 CSN 02 9310.2 
035 2053651004 Штуцер  
036 2053760014 Колено  
037 4436120810 Клапан обратный 443 612 081 001 
038 3194110800 Гайка накидная M12 x 1,5 
040 4436121560 Соединение контрольные 03.9701.00 A124.20.21.15/72 
041 3119013300 Кольцо уплотнительное 27 x 32 CSN 02 9310.2 
042 2053651214 Горловина  

 


	05.24 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)

